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%Problema 1

x=input('Ingrese x='); y=input('Ingrese y=');

x=1./x;  y=exp(y);
p=polyfit(x,y,4)

d=p(1), c=p(2), b=p(3), a=p(4)

%Problema 2

N=input('Ingrese N= ');

a=[];

for i=1:N-1

    nd=0; %número de divisores de i

    for j= 1: (i/2)

      if (rem(i,j)==0) 

        nd=nd+1;

      end;

    end;

    if (nd=1)  

        a=[a i];

    end;

end;

disp(a);

%Problema 3

N= input('Ingrese N= '); M= input('Ingrese M= ');

a=zeros(N,M);

for i=2:N

    a(i,1)=100;

end;    

for j=2:M

    a(1,j)=20;

end;

a(1,1)=(a(2,1)+a(1,2))/2;

for i= 1: (N-1)

    a(i+1,M)=a(i,M-1);

end;

for i=1:(N-1)

    for j=1:(M-2)

        a(i+1,j+1)=(a(i,j)+a(i,j+2))/2;

    end;

end;    

disp(a);

%Problema 4
>> syms a x y
>> [x y]=solve('x*x+x*y+y=3','x*x-4*x=-3')

>> int('x^a','a');
>> int('a^x','a');

%Problema 5, función sumapoly(p,q), archivo sumapoly.m
function y = sumapoly(p, q);

m=length(p); n=length(q);

if (m>n)

    q= [zeros(1, m-n) q];

else

    p= [zeros(1, n-m) p];

end;

y=p+q;

